Worksheet -Revision Subject: - Mathematics Class: - IV

Name: Class & Sec: Roll No.

Revision of Chapter- 1 & Chapter- 2

Q1: Fill in the blanks:

W 00 N O U kA W N e

10.
11.
12.
13.

Q2

Q3:
Q4.
Q5:
Q6:
Q7:
Q8:
Q9:

100 thousand = lakh

1 million=____ lakh

10 million=___ crore

1 thousand = tens

70000 + 5000 + 600 + 40 + 1 =
(4 x 100000) + (1 x 1000) + (3 x 100) + 4 =
X+V=

I+ XX =

X-V=
0+6789 =
922 +18 +100 =

The successor of 3899 =

Greatest six-digit no. =

: write 356245 according Indian System of numeration.

Write 813300 according it International System of numeration.

Write the place value and face value of 8 in number 85,692.

Write the smallest number of 5 digit using digits 7, 3,9, 5 and 1.

What is the predecessor of smallest 5-digit number.
Write the succorer of greatest 6-digit number.

Which number is 540 more than 15,0767
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Find the sum of greatest 3-digit number and the greatest 4-digit number.

Q10: Add (i) 1,22,456 and 74,321

(i) 2,43,567; 3,45,432 and 123

Q11: In a recreation tour Mr. Malhotra spent X 1,45,315 on stay, X 8,635 on food and X 98,300 on

shopping. How much did his tour cost him?



